
1) (1 x 104) + (4 x 84)

Answer: ____________

2) 29 + 1

Answer: ____________

3) (7 x 109) + (8 x 91)

Answer: ____________

4) (1 x 84) + (4 x 1-9)

Answer: ____________

5) 7 + 93

Answer: ____________

6) (5 x 83) + (8 x 2-3)

Answer: ____________

7) (1 x 24) - (4 x 98)

Answer: ____________

8) (4 x 89) - (4 x 9-9)

Answer: ____________

9) (10 x 71) - (1 x 84)

Answer: ____________

10) (2 x 85) - (5 x 58)

Answer: ____________

11) 14 + 43

Answer: ____________

12) 58 + 71

Answer: ____________

13) 33 + 92

Answer: ____________

14) (6 x 52) + (6 x 47)

Answer: ____________

15) (4 x 55) + (4 x 25)

Answer: ____________
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16) 52 + 88

Answer: ____________

17) 76 + 45

Answer: ____________

18) (4 x 107) - (7 x 1-7)

Answer: ____________

19) (6 x 51) - (9 x 92)

Answer: ____________

20) (4 x 49) - (4 x 1-9)

Answer: ____________

Total: ___ / 20
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Answers:

1) 26384 2) 30 3) 7000000072 4) 4100 5) 100 6) 2561 7) -172186868

8) 536870912 9) -4026 10) -1887589 11) 57 12) 129 13) 125 14) 98454

15) 12628 16) 140 17) 121 18) 39999993 19) -699 20) 1048572
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